Name__________________________
Travel in a Growing Nation
Nystrom Atlas Activity
Time and Change:
Turn to pages 44 and 45 in the Nystrom Atlas.  Read the overview and review pictures B and D.  Use the information to answer the following questions.
1. When was the steamboat invented? _____________________________________
2. What was the fastest and cheapest way to travel in the early 1800’s? _____________________________________
3. What was the main overland method of travel until the 1830’s? _____________________________________
4. What new overland method of transportation improved travel in the 1840’s? _____________________________________

Gathering the Facts:
Look at map E, “Travel Time From New York City.”  Write the time it would take in 1850 to get from New York City to the following cities.
a. Philadelphia, Pennsylvania _____________________________________
b. Buffalo, New York ___________________________________________
c. New Orleans, Louisiana _______________________________________
d. St. Louis, Missouri ___________________________________________
e. La Crosse, Wisconsin _________________________________________

History Through Maps:
Look at map F, “Mismatched Railroads.”  Use the information on the map to complete the following journal entry.
[bookmark: _GoBack]We started out in Boston and traveled along a track _____________________________________ wide to New York.  We needed to get to Philadelphia so we _____________________________________ trains.  The new track was an inch and a half wider.  Once in Philadelphia, we switched trains to get to Cincinnati.  The track was the same _____________________________________, or width, as the one we took from Boston to New York.  Once in Cincinnati, we realized we would need to go to St. Louis.  So we switched trains to one with a gauge of _____________________________________.  After a few days in St. Louis, we decided to travel west to Kansas City.  We started on a track _____________________________________ wide.  Later we switched to a track that was almost _____________________________________ inches narrower.  Kansas City was as far _____________________________________ as we could go by train.
